Db-Killer N.62
Co0d.3014259801

LV ONE EVO silencer RHS
stainless steel
Co0d.3014259481

100

2X Knurled collar nut M5
Cod.204407

Carbon clamp "24TA"
C0d.303864501

BIKE'S FRAME
/&/Aluminium spacer
| Cod.204677

2x Allen screw
M5X12 T.B.E.I.
Cod.201031

Pipe N°1399 s.s
cod. 3014400201

NS

Aluminium spacer
@27X8,5
Cod. 204321

Allen screw M8X20
T.C.Z.B.C0d.200722

Short helical
spring tensile
cod. 303949001 Allen screw M8X30 Knurled collar nut
T.C.Z.B.C0d.202491 M8 Cod.200298
— Graphite bushing
Aluminium spacer 240x232,3x30
@20x28.5x14 Cod. 203532
Cod. 201822 08
Strap in S.5.043
C0d.300043530
ART. 14400E

HONDA CRF 300 L / CRF 300 RALLY

SLIP-ON - LV ONE EVO - STAINLESS STEEL



	DT-14400E
	Vista del disegno1
	Vista del disegno2


